KHEHE FEER

M . (e 564048098 (AER) 1485405
$HM6E04809H (AEEHR)
XEZERSG, AYOHOBBIRI—HEET 2720, BHEBRETENOBENRE—HLAWVEELH D,
WAL =P B (EEZbaN: 3 &&t =)=
B 6,246 502,548 8,163 516,957 83 %
= 100 64,401 66 64,567 4T %
=5 6,346 566,949 8,229 581,524 76 %
BfI: kg, @
W N ENFEiis
S| e e |RFEAE HEAR TEn o= e =@ e o
B[ A 32,520 | W AR 70 [T 10 | 1,404
B3 10
Bt 10
iEpS 32,340 [T 10 | 1,620 1,296
B3 10 | 1,620 1,080
&l 10 | 1,620 1,296
B=% 110 [T 10
B3 10
& ih 10
MR 120 | 48 120 |F2E 0.8 130
BE 0.8
BH 0.8
ICA LA 45,041 | 83t 43,941 |ES 10 | 3,888
T 10
& ih 10
E= 1,100 |2 & 10
FE 10
BH 10
hal o) 6,369 | WAL 20 |ERH& 4
REA 0.2
B
iEpS 893 | E#&
REA 0.2
BH
E=% 5,456 |&#%
REA 0.2
Bt 4
ok 3,252 [& W AAL 120 |gEA 10
&R 10
‘i 10
GiEbs 3,132 |EEA 10
& [ 10
Bt 10 | 6,480 4,860
F Ry 117,235 [& W AAL 1,850 |4zl 10 | 1,080
P 564048098 (AER) 1485405
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WP JL XA SE (LN

KHME HEER SHM6E04809H (KEER)
BfT kg, M
, i I (G
S| R EHFEHE |RFEAE HEAR TER o= w0l 2 T o
A 10 | 1,080
BH 10
iEbS 115,385 [#z)1| 10 | 1,728 1,080
A 10 | 2,160 1,728
Bt 10 | 1,728 1,080
L& 18,080 |4 AAL 300 |2k 10 | 1,512
fE 10
‘i 10
Lizbs) 16,865 |k 10 | 3,240 [ 2,700
BE 10
R 10
E= 915 |2k 10
fE 10
‘i 10
lF<E W 31,847 | W AR 465 2Rk 13 | 1,404
BH 15
GiEps 31,382 |Z#H 13 | 2160 | 1,620 | 1,080
BH 15 | 2,160
ZEDOR 3,209 & W AAL 476 |ZI 0.2 108
IR 0.5
B 0.5
MExd 2,728 |Zx, 0.2 108 97 86
BN 0.5
‘i 0.5
B=%F 5 (2R 0.2
IR 0.5
B 0.5
FEo2NAZS 3,414 (€Y AAL 75 |2 0.2 108
IS 0.2 130
BH 0.25
iEbS 3,339 [Z 0.2 108 86
M5 0.2 130 108 86
B 0.25
hn&E 13,724 | =Y AAL 20 | T 5
3E 5
‘i 5 1,296
Lizbs) 13,554 |F% 5 3,240 2,160
BE 5 3,780 2,160
Bty 5 3,240 2,160
B= 150 |F% 5
3E 5

SH6F04809H (AEH) 1485409




KHEHE FEER

S65£04A09H (KEER)

B kg, M
. . P R I 7S i
x| SRE HFTHE |RFTHE HEAR IER Y3 il 2 e o
BH 5
SE 711 €Y AAL 20 |BE 5 4
A 2.8
Bt 4
iEpS 691 |35 4
A 2.8 | 2,160
‘i 4
Ly — 769 | At 769 |B#fH 10 | 3,780 3,024
& [ 10
B 10
ol 19,383 &Y AAL 175 |5 5 2,160
5 5 1,944
‘i 5
Lizbs) 19,208 B 5 2,160
BE 5 2,160
B 5 2,808
MEL » 6,890 | #Exd 6,890 |=a-—v—5>+ 10 | 2,160
ek 10 | 7,020
BH 10
AN 4,344 | €Y AR 25 |&A 0.4
& [ 4
Bt 0.4
iEpS 4,319 |&x1 0.4
& [ 4
£ 0.4 184
k< b 19,265 | €W AAL 1,105 |gEA 4
AR 4
B 4 2,052 1,404
iEpS 18,132 |fEA 4 | 2,160 1,728
A 4 1,944 1,512
BH 4 2,484 1,836
B=% 28 |REA 4
AR 4
Bt 4
Sl Al 7,014 | 8% 7,014 [REA 3 3,024
A 0.2 238
ZHh 0.2 216
E—< 19,669 [& 4 AAL 40 2Rk 0.15 151
= I 0.13
B 0.15
MExd 19,629 |3 0.15 151
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N N7 TXN B 7N THITHVSTVT/ I VJ I \/\HFE I/

BfT kg, M
INK =) = | =g ENFEAMmE
GAR: 2| R EHFEHE |RFEAE HEAR TER o= w0l 2 T T
=y 0.13 130
ZHh 0.15 108
ZoEd 1,272 | 1B 1,272 |EEIR 4 3,888
Rl 4
B 4 3,888
Cehns 42,250 |1 AHL 300 |BIRS 10
bl oE] 10 | 1,188
‘i 10
st 41,950 (&2 10 | 2,700
JtimE 10 | 1,620
B 10
EOFLD 2,185 [& W AAL 20 | 7% 5 540
I 5
‘i 5
Lizbs) 2,165 | T3 5 1,728 | 1,512 | 1,080
I 5
Bt 5
TmERE 30,910 [€ W AR 1,150 |dbim&E 20 | 1,188
=1 10 | 1,188
BH 20
Lizbs) 29,760 |dtimE 20 | 3,780
&8 10 | 2,376
B 20
mELWET 4,745 [€ Y AAL 15 |#kHE 0.1 173
=F 0.1 140
‘i 0.1 173
Lizbs) 4,728 |FH 0.1 173
=F 0.1 140
&b 0.1 173
B=% 2 |FHE 0.1
=F 0.1
BH 0.1
T DAEF 82,739 | #Ext 82,342
E= 397
IR . SH6404 8098 (AEER) 1485405
KHME HEER SHM6E04809H (KEER)
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BfT kg, M

% o IS PR ENFemiE
x| SRE HFTHE |RFTHE HEAR IER Y3 5] 56 e o
REIVAZ 23,290 [V AKL 100 | &% S L 10 | 5,724 3,780
Bk EAM 10 | 5,400 4,320
iEbS 23,190 |&#% S L 10 | 5,724 3,780
% EAK 10 | 5,400 4,320
Wb 23,402 | #Exd 23,400 |#EA EbBEH|0.26 464
I EbEELH|0.26 432
B H EhB e |0.26
& [ HhEH-H |0.27
&5 WH T XA |0.24
] fIEF->~ |0.28
Rk fLIEF->~2 |0.26
& $IE->~2 |0.26
B=% 2 | EhbB e |0.26
I EbELH|0.26
B H EhB e |0.26
& [ HhEH-H |0.27
&5 WHE T XA |0.24
] fIEF->~ |0.28
R, $TIEF->~ [0.26
& HIEF->~2 |0.26
T—ILZ A0V 76 | HEx 76 | 1
=yl 9
BH 8
ERAYA 9,750 | #Exd 9,750 |HEAR 15 | 9,180 | 7,020 | 4,320
‘i 15
ZREETULMH 1,325 | Bt 1,271 | 2R 8
PSS 8 6,480 | 5,940 | 4,320
Bt 8
E=% 54 ik 8
IS 8
BH 8
oA 6| #Ext 6 |E% 3.6
& [ 3.6
Bt 3.6
ZDRE 6,718 | #Exd 6,708
E=% 10
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